Algebra 1 — Chapters 3/4 Group Quiz / Review

*SHOW YOUR WORK™

Block:

Group Number: K&*&“
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PART 1: SHORT ANSWER ( points)
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1)} Express the relation {(2, 3), (2, 4), (5, 9)}as a
mapping diagram.
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3) Tell whether the relation is a function, Explain.
{(_4! _1)= ('_3: 0)1 (_2= 1)) (_'1 ) 2)}
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5) Find the next three terms of the

arithmetic sequence 2, 9, 16, 23, ...
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8) What is the 45th term of the arithmetic sequence
58, 61, 64, 67,...7 b7 oA (a-tDe
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7) This table shows the number of people at a festival
at certain times during the day. During which time

interval did the number of people increase at the i §4“ ; — y R T
greatest rate? What was the rate of change for that : ,7 oo i e 2
intervai? {\"'7*:“‘ : “ZHE D
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9) Find the slope of the line that contains the points
(4, 5) and (7, 11)}.
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10) Graph the line with a siope of u% and

y-intercept of 4.
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11) An artisan crochets blankets for a craft fair. The

table shows the refationship between how many
heurs the artisan spent on a blanket and the price
charged for the blanket.

Hours 8 |24 (16 (8 |20

Price ($) |80 |200|12065 {180
Find an equation for a Ime of best fit.
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12) Write an equatlon in poirt=sitpe form that
describes the line with a slepe-ef-<-ffratsgontains the

point-(r2y (4.-2) (,m‘3 |
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PART 2: EXTENDED RESPONSE ( points) ol

[—— ——

A suigrsist theorbzes that you
3R estimate the temperatire
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by counting how ofien cdokets
ghirp, The scientist gathers the
data in the tahle shown.
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k. What might be the lowest temperature to Whmhwm” mr}dﬁi muid be applied? Explm yﬁm‘
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